Rk 265K BUBSIEENE HiiE

EA=E2 PEZR HERD

cxlan| mA 1 4 ILAAH | SHAH | 7551
L | 410 | wm |[ 0 S7E 0 AR 2,364|  —2,364
2 [a/10| s |G ST T RATR 131 2,495

4/16 HHTER 1/ 4605 420,000 417,505
3 | a2z | wen |EEmaman 1,290| 416,215
4 | 4/27 e | B ERE BETOR (48 2 3,093 413,122
5 | 4/27 |eremmns | d i TR (47 5) 3,877 409,245
6 | 4/28 |sormase [FereHil R AREEE MEROE (4 55) 6,763 402,482
7 | aas | e |7 w0h ERTERR GERRED) W oo
8 | 4/28 |wormsaze | 0 HER BEHIEHAH 4) 3,093| 396,246
9 | 4/30 | wiw |[BwrAEsE ke A HR) 4,533 391,713
10 | 5/8 |mmmas|arim o= mges 9,853| 381,860
LU | 5/12 | s [(0 7 B 2,364 379,496
12 | 5/12 | s [0 SAVET R 131| 379,365
13 | 5/13 [wermense | g 500 378,865
14 | 5721 | wesr |58 BHEB MR 109,234 269,631
15 | 5/21 | wmn |Emmeman 9,750 259,881
16 | 5/26 | germung [FOCHTB HAEEGERTE ARwCrt 6,763| 253,118

(5H7%47) ’ ’

17| 5726 | v |7 Foh ErTmER R G " oo
18 | 5/27 ek | f3 0B BESEEH(5 A 49) 3,093| 246,831
19 | 5/27 |eormne |8 HBTR WEZERH(5 A 49) 3,003 243,738
20 | 5/27 |kt | g g MEZORH (55 4) 3,877| 239,861
o1 | 6/2 | wmr |mwasE BeGAmRY) 4,647| 235,214
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a| AR A Fi 2 IANGAR | e | 5 R
22| 6/10 | e [[] 07 AR 2,364| 232,850
23 | 6/10 | wan | L7 oAb AR 135| 232,715
24 | 6/26| wmm |(27A0F BT EEREE) W oo
25 | 6/26 | e as ﬁ’?ﬁ@% RGN et 6,763 222,804
26 | 6/27 |wenmate | fE HOETHE BERCEE (6 H 43) 3,093| 219,711
27 | 6/27 |t | FOETHE WERCEE (6 H 43) 3,093| 216,618
28 | 6/27 |eniAasy | mAHT R BESORE(6 A 43) 3,877| 212,741
29 | 6/30 [msemrnn |4 ~6 15 BEEET 117,013| 95,728
30 | 6/30 | wmm |MEaEE K4 (683K 4,848] 90,880
31| 7/1 |meman |21 770 2014MARA BARR 6,480| 84,400
32| 7/9 | wmn |EEmamAn 1,933| 82,467
33| 7/10 | wam |[Jb/ 7T AL IR 2,434| 80,033
M| 7/10| ww |7 SFHTRAR 135 79,898

7/16 HHTER 2/ A% 420,000 499,898
35 | 7/27 |eenmate | HOETE WESORE(7 H 43) 3,093| 496,805
36 | 7/27 et | E a0 BESERH(T H 4Y) 3,877 492,928
37 | 7/28 [wermense %’?ﬁ%ﬁ HARE AT et 6,763| 486,165
a8 | 7/28 | s [ (27RO EATERRGERRED) 1
39 | 7/28 | et | fE HOFTE WESORH(7 H 43) 3,093| 479,948
40 | 7731 | wen |78 wHEB MR 61,130 418,818
a1 | 7731 | wmm |marEE e (THERS) 4,647 414,171
az |8/ | wmn |55t RATR 135 414,036
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a| AR A Fi 2 IANGAR | e | 5 R
43 | /11| e [0SO IR 4,591| 409,445
14 [ 8726 | wam | £7 KN ERTRRRGEGERED) N o
45 | 8/26 | Eerimnm i@?’giﬁﬁ RGN et 6,763 399,489
46 | 8/27 |@rms s |45 TR BESEEH(8H 4Y) 3,093| 396,396
47 | 8/27 [wermmaze |5 HOETR BEROE(8H %) 3,093| 393,303
48 | 8/27 [wrrse | g Ry REFEEF (8 H ) 3,877| 389,426
49 | 8/29 |maias |70 -804 BEHEDE 286,903| 102,523
50 | 9/10 | wasn | L7 oAb 135] 102,388
51| 9/10| swn |77 IR 3,240 99,148
2 | 0/26 | s (7R EATEERGERRED) W
53 | 9/26 |wermins E(%?i\%ﬂ HAREGEHTI . et 6,763| 89,062
54 | 9/27 |eeenmate | HOETE WESOEE (9 H 43) 3,093 85,969
55 | 9/27 |eermins | & ang i BESEEE(9H 4)) 3,877 82,092
56 | 9/29 |ermnte |45 AR BESeRE(9H %)) 3,093 78,999
57| 9/30 | wmm |MEarEaE K4 (98 3K 3,284| 75,715
58 |10/10] wasn | T oAb 135 75,580
59 [10/10| wmm [7bSo® 0n 0 3,240 72,340

10/16 HHEES 3,/ 4500 420,000 492,340
60 | 10/27 | werm At | 5] FgTRR BEREEH(10H 43) 3,093| 489,247
61 | 10/27| e ate | B kg BESeR (1OH 4y) 3,877 485,370
62 | 10/27| eermnze ﬁ?ﬁiﬁ FASETRTI TR S0RY 6,763 478,607
63 | 10/27| e At |13 H TR BESeR(1OH 4y) 3,093 475,514
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hl A mEA fi 3 IR | 3 A | 551k
64 10/27 %:Z%% 4):/&~Z\\y]\ toﬁiﬁ{é*il' (%gﬁfﬁé\ﬁ) 3 310 472 204
I ICYEA) ’ ’
65 |10/31| wmz |HurEzE B4 (10 A #KkS) 4,129] 468,075
. ALH =y NS — k)
66 [11/10| st | (g} s 135 467,940
67 |11/10| ®mn |/7h 7% M0 GEBER 3.240| 464,700
(9H %)
68 |11/20] #ms |Hwmm Az 36,396| 428,304
69 | 11/26| cormms ne [PE7CHT  HASREFTHI Aokt 6.763| 421,541
o (118 %)) ’ ’
. S —Foh EhTEIEE EEET)
70 [11/26] FEE [0 3,229 418,312
71 | 11/27 | aemens |45 B BrRE BESERF(11 A4 3,093| 415,219
72 (11727 [ermeare |5 H BT BESCEH(11 H 4) 3,093| 412,126
73 | 11/27 | et B anE i BESeRE (11 H 4Y) 3,877| 408,249
74 | 12/1 |mEmen|9H ~11 84y BOKIE a2 6,362 401,887
75 [ 12/1 | #mw |[HEHETE B4 (Q1AERD) 4131 397,756
. AB—Fy NS —E}
76 [12/10] FEE [0 135 397,621
B VTN TE|SNAI EBIEE
77 [12/10] FEE [0 3,240| 394,381
78 [12/12| #wmw |EmmapEAL 5,122] 389,259
79 | 12/26 | sp s |[FEZEATET HAREFORTRT et 6.763| 382,496
) S (12H5)) ’ ’
80 |12/26| et |5 H FTE BEFOEH (128 4) 3,093| 379,403
81 |12/26| e s | = 2R BEFEE (12 H %)) 3,877| 375,526
82 12/26 e ) /])\‘/&j\*y]\ 1107]5@1%*4(%3%{%@@) 3,184 372’342
(11A%)
83 |12/29|mrmers |4 H R BEFE (128 4)) 3,093 369,249
84 | 1/5 | #mm |HHMLEAL 2803 366,446
85| 1/5 | #mwm |#arEs ke (120 #%k0) 4,134] 362,312
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hl A mEA fi 3 IR | 3 A | 551k
86 | 1/13 | e [[ N7 AR 135| 362,177
87 | 113 | wwn |7 R 3,240 358,937

1/16 HHSTER 4/ A% 420,000 778,937
88 | 1/26 |werminn ﬁ’?ﬁ@iﬁ RGN et 6,763 772,174
89 | 1/26| #w# /(1)1/2%;\7)\/]\ v 7iEfE R (BRI E ) 3,334 768,840
90 | 1/27 [mrmers |45 0BT BESSRL (1A 4 3,093| 765,747
91 [ 1/27 |enmase | FOgTHE BESOEE(1H 43) 3,093| 762,654
92 | 1/27 |eewniase | mAg R BESOR(1 A 43) 3,877| 758,777
93 | 2/2 | wmm |mwEs He (AR 4,136 754,641
94 | 2/10 | wen |HEmamAn 1,425 753,216
95 | 2/10 | wwn | T2 bR 135/ 753,081
96 | 2/10 | wwn |77 mE 3,240 749,841
97 | 2/26 | wermins %ﬁiﬁ?ﬁ HAREGHTI et 6,763 743,078
08 | 2/26| wmm |{27A7h ERTMIR R EE) W o
99 | 2/27 |wenmase | HOETHE BERTEE(2 H 43) 3,093| 736,749
100| 2/27 |eerminse (45 HFT R HESERH(2ZH 47) 3,093| 733,656
101 3/2 [wkmiens | @i Wk (2H ) 3,877| 729,779
102| 3/2 | wmn |mwms Be AR 4,262| 725,517
103| 3/10 | wne | (ST TR TR 135| 725,382
04| 510 | w7075 7= S0 iR 3,240 722,142
105| 3/26 |wermias %ﬁi@ﬁﬁ HASREFERTR Bkt 6,763| 715,379
106 3/26 | wn |{ TN EPTEERHEEREL) 3,390 711,989
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“xlAan| me 1 5 A GAE | SeH e | 21T
107 3/27 |werminte (45 AOgT R HESEEH(3H 47) 3,093 708,896
108 3/27 |wermiase (5] FOFTRE HESERE(3H 47) 3,093| 705,803
109 3/27 |ermins | = xgid HESORH(3H 47) 3,877| 701,926
110] 3/31 | st [HHrEaS ke (3H R 6,755| 695,171
695,171

a it 1,680,000 984,829 695,171

1REHARE 20MEE SLHRLREE 4ZEFRESZTHE S2RE 6ENERE 7TENBALR sEHBHE oBHE 10 AHKE
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